m;0<g)

m,(kg) Vi(m/s) | Vie(m/s) | piotailkgmy/s). | KEitorar(J)
1 (9516 14180 | .5 @) ]
2 I3 (@]
3 1, O3~
4 » ¥ . '
Table 1a: Condition 1 initial values (the light cart is originally at rest) (Make a better caption.)
“Trial | m,(kg) | my(kg) | Va(m/s) | Ve(m/s) | prowikgm/s) | KEnoa(d) | p %diff KE %diff
1 ‘ 2 14 - | 5K
2 olY 0 6% '
3 27 [ h24
Table 1b: Condition 1 final values (the light cart is originally at rest) (Make a better caption.)
Trial | mi(kg) | ma(kg) ~Vn(m/s) Via(m/s) | puota(kgm/s) | KEiotat(J)
1 |o3860[i316 | o453 O a
2 - - »0,;@@ 2 0‘82 _0:0
3 K ©
4 - 8 O
Table 2a: Condition 2 initial values (the heavy cart is ongma]ly at rest)
‘Trial | my(kg) | mo(kg) Vﬁ(m/s) Ve(m/s) | proa(kgm/s KEﬁma](J ) | p%diff | KE %diff
1 ~ai ﬂ Z o 2 ?
2 <y 1H L
3 =) 3 ad %
4 ha) 1 2 S gq_o
Table 2b: Condition 2 final values (the heavy cart is originally at rest)
_Trial | my(kg) | m.(kg) Vu(m/s) Viz(m/5) pitom(kgm/ s) | KEitotai(J)
1 |80 |0 | 77 |6/
2 ”mgi S s 5.?
13 s ?3 “a 6 3
4 4 ?g s 87
- Table ga: Condition 3 initial values (two carts of same mass are moving)
Trial | m,(kg) | m.(kg) | Va(m/s) | Vi2(m/s) | paoa(kgm/s) | KEpota(J) | p %diff KE %diff
1 “e \S‘3 - 53— : )
2 ~ 97| EF
3 e L‘ Ay » 5- 2)
‘r 66 > 5 /

4
Table 3b: Condition 3 final values (two carts of same mass are moving)




